3-7
(a)
Relatively easy to estimate.  Contact a real estate firm specializing in commercial property.



(b)
Accurate construction cost estimate can be obtained by soliciting bids from local construction contractors engaged in this type of construction.


(c)
Working capital costs can be reasonably estimated by carefully planning and identifying the specific needs, and then contacting equipment distributors and other suppliers; estimating local labor rates and company staffing; establishing essential inventory levels; and so on.


(d)
Total capital investment can be reasonably estimated from a, b, and c plus the cost of other fixed assets such as major equipment, plus the cost of any consulting or engineering services.


(e)
It is not easy to estimate total annual labor and material costs due to the initial uncertainty of sales demand for the product.  However, these costs can be controlled since they occur over time and the expenditure can be matched to the demand.


(f)
First year revenues for a new product are difficult to estimate.  A marketing consultant could be helpful.

3-20
Material Costs:
I1999 = 200
I2006 = 289
X = 0.65


S1999 = 800
S2006 = 1000

C1999 = $25,000



C2006 = 
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= $41,764


Manufacturing Costs:

s = 0.88
K = $12,000



Z50 = $12,000 (50)log(0.88)/log(2) = $5,832


Total Cost = ($41,764 + $5,832)(100) = $4,759,600

4-37
P = $100,000 (P/A, 15%, 10) = $100,000 (5.0188) = $501,880

4-69
(a)
Monthly payment = $30,000 (A/P, ¾%, 48) = $30,000 (0.0249) = $747.



Amount owed after 24th payment = $747 (P/A, ¾%, 24) = $747 (21.8891) = $16,351.


(b)
Not counting the $5,000 down payment, your friend is “upside down” by $1,351.  This happens when she owes more on the car than it is worth in the marketplace.  Nothing much can be done about this situation except to keep the car longer and hope the vehicle remains in good working order.  Or if the mileage is low and the car is in very good condition, perhaps it is worth more than $15,000 and she should consider selling it.

5-4
PW(10%) = -$18,000 + $5,000 (P/F,10%,20) - $250 (P/A,10%,20)


 
        

   - $500 (P/F,10%,7) - $800 (P/F,10%,14)



         = -$18,000 + $5,000(0.1486) - $250(8.5136) - $500(0.5132)





   - $800(0.2633)



         = -$19,852.64
5-51
(a)
0 = −$4,900 + $1,875(P/A, i′, 5); 
i′ = 26.4%


(b)
θ = $4,900 / $1,875 = 3 years (to the integer year)
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